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Foundation Questions

10) In a small packet there were 7 yellow, 3 red, 4 pink, &8 brown, and 2 blue smarties. One is chosen at
random, find the probability that it is:
a. red or yellow;
b, green. |
11) There are 200 “Lego” bricks in a bucket. Ofthese 63 are blue, 37 are green, 59 are yellow an the
remainder are red. One brick is chosen at random, find the probability of it being:
I white; =
i, blue or red.
123 A bag of 7 blue, 5 white and 3 ved balils has one biue ball withdrawn. Ifthe first ball is not replaced,
what is the probability that the second ball withdrawn is alse blue?
3 W W 7 7
A} = By — Cy — D) —+
* 3 ® (© — D) 7
13} A coin is tossed three times. What is the probability that on the second toss it is a head?
/ ! ! i
A) — By - (C) = (D) -+
) 3 B) - © 3 D) ;
14) A twelve sided die, marked with the nunbers / (0 /2, is rolled. The probability that the face uppermost
is either divisible by J or 2152
(A { ) 3 «© 7 o 2,
- Ay - 3y i (-7
h ) 6 CI2 12 3
L5 A group of 20 yeur old students were surveyed. The graph shows the number of operations each had had
up {o thelr twentieth birthday.
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Number of Operations
How many students were surveyed?
Find the probability that a person would reach the age of 20 years without having had at least
one operation, ¥
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16)

L )
Three picture cards and 6wo aces, (A), are face down. The first card twmed over at random is shown.

What is the probability that the next card chosen is a picture card?
I 3 3 4,

A) = By — C) = Dy =t

@ 2 ®) % © - ©)
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Three cards are labelled with the digits 4, 6 and 9. A two-digit number is formed. The probability of
forming an even munber can best be described as:

(A} unlikely (B) even chance (C) very likely (D) alniost certain

Fifieen teams are taking part in a football competition. Comment on the following statement: “The

I,
probability of a particular team wirming the competition is

C

“As there are /0 teams in the competition, the probability of Peter’s team winning is —

Totto is a game in which six numbers must be correctly selected from thirty numbers (7 to 30). What is
the prebability of winning Totto by making one selection of six numbers?

How many different debating teams of 4 students could be selected from /3 students?

Five people 4, B, C, D and E turn up to play squash. List all possible ways two people can be chosen to
play first.

A game similar to Lotte uses cards with numbers one to twenty. This game is plaved by selecting four of
these twenty numbers. What is the probability of marking the four winning numbers?

How many different 3 card hands can be dealt roma 52 card pack?

Five gitls and five bovs ave allending a camp.
i A group of Towr girls is needed 0 cut firewnod. How many different groups can be chosen?
ii. Agroup of eight, consisting of four boys and four airfs, is going canveing, How many dilferent
groups cait be chosen?

i. Cathy, Melinda, and Raelene are the only runners in a race. In how many different ways can

they finish if there are no dead- w ats?

i, SiX runners are in a race. [n how many different ways can the tfirst three finishing positions be
filled?

A commitlee of three people is to be chosen at random from a group of eight people. Tlow many
different committees can be [ormed?

y

A (eacher is arranging 7 ch :% en for a group photo, The children will 81t ina row. In how many
dilferent ways can the teacher arrange the seven children in the row?

Tree Dingranss

Peter has an 80% chance of wimning each game of chess he plays in a particular competition. He T
play three games. He must win at least two of these games to make a final play-off. By using a tree
dragram, or otherwise, find the probability that he Emrmm the final play-off.

Filly tickets ave sold in a rafile. There are two prizes. Michelle buys 5 tickets. The probability that
Michelle wins both prizes is given by the expression

54 S
A 2L B) 2ot
N 575 T AT
S5 5 4
€ LxL D)
© 5% ) 5575
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At Sunshine Resort, the probability that is will vain on any particular day in January is ¢/, Gloria will

spend 3 days at the Sunshine Resort in Janvavy 200/, What is the probability that it will rain on at least
one of those 3 days?

(A) 0:001 B) 0271 (Cy 63 Dy 0729

Fifty tickets are sold in a raffle. There are two prizes. Michacl buys 5 tickets, Which expression givas
the probability that Michael wins both prizes?

s 4 5
Ol.ft
® 5t © 5

4
I/Allii

50 49

D)

3

Five men and thiree woman are living on an island, but not all will be able to stay,

i. If one person is setected at random, what is the probability that this person is female?
ii. Two peaple are to be randomly selected 1o leave the island.
I Copy the ree diagram inta your writing booklet, and complete the diagram by writing the
probabilities on all the branches.
st Selection  2nd Selection
E __——Female
cinale
\ T Male
<
- - Female
~hale < ‘
T Male
2. Caleulale the probability that the selection includes exactly one female.
iii. Antoinette is one ol the women on the island. Betore the two 1002@ are randomly selected 1o

leave, Antoinetle calculates her chance of remaining on the island.
good chaunce of remaining. 1o you agree? Juslily your answer

She concludes that sh

e hus

Sarah has two packets of jelly beans. Fach packet containg one black and five yellow jelly beans. Sarah

fakes one jelly bean from each packet without looking.

What is the probability that both of the jelly
heans are black?
! { ) 4
{A) By — (- (I —
g (B) 2 S -3

From 3 bovs and 7 girls, two children witl be chosen al randam to work to

get cther on a project,. Which of
the following probability trees could be used o determine the probability of choosing a boy and a gisl?
5 4
12 _ boy 12 bay
S oy o 5 =
SRR ¢ £} S . boy —
PR i SR AC A Y
12 7 B 12 » —
/ iz e i2
¢ <
AN 3 7N 2
— s . e s £ :
12 gyl 12 boy 12 girl 2 00
- llltl.l..srt.rc - T N ﬁj’)]l(..l.ll 4
7 8w 6 il
J
() 12 ®B) 12
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6) 1)
7y C
5D
NC
INHB
[1)yay220 b)6
£2) This statemient assumes (hal each leam in the
competition is equally likely to win the

:w

premicrship. In reality of course this is not

the case as there are many factors o be
considered {e.g. quality of players, _:,E:
1o key players, etc.). The statement is
meorrect.

1N 703590352

[43 Each toss of the cain is an independent event .

both events (For Ty wre cqually likely
DEGUL,

I3y 270 725 iy 3748

16) 1) 1000 possible oulcomes 1} .2

17} The stalement is not grue as all weams do notl have

an equal chance of winning,.

18) ¢

[9) The statement is false. [tis not equally like
thal each 1eam wi : win e compelill c:
Sorne teams will have more skilful players,

some will have wjuries to key players ete.
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Y AB, AC, AD, AE, BC. BD, BE, CD, CE, DE
-
1845
24) 2 598 960
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| Answoers

29) P (makes the play-
off) = 0-896
8 —
\\ W A
m.w
0-8 Q A:\
/ m\
02 A L
¢ % 7
A\\\ W
Q.w L
30) D
]
NG ﬁw: 1) 2. It has the highest probability. i)
JJW ﬁ\
El
y 2B
10" g
- o
NS
r\Q {r A.:,.u}., .
2
33)1) : i) ww
3H 0D
35) B
36) D
A
;o
= b ﬂ..ff}.t.
B 57M
< 7
s 2
5 oM I
wﬂun.w i 1) 7 wv.mw

1i1) Antoinette has a 75% chance of not
being chosen, which is a good chance.

3I8) A

NnD
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